
Noise = 0: 

y = 0.0200x + 0.0000
R2 = 0.4185
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Noise = 1: 

y = 0.0199x - 0.0019
R2 = 0.3822
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2: 

y = 0.0198x + 0.0298
R2 = 0.3013
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4: 

y = 0.0196x + 0.0488
R2 = 0.1623
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8: 

y = 0.0190x + 0.0376
R2 = 0.0532
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16: 

y = 0.0261x - 0.1094
R2 = 0.0272
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32: 

y = 0.0383x - 0.5480
R2 = 0.0151
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64: 

y = 0.0287x - 1.3252
R2 = 0.0020

-40

-30

-20

-10

0

10

20

30

40

0 20 40 60 80 100 120

 
 
128: 

y = 0.0692x - 1.5783
R2 = 0.0029
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256: 

y = 0.2019x - 12.9230
R2 = 0.0068
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512: 

y = 0.0312x + 2.1206
R2 = 0.0000
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R^2 as a function of the noise: 
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It is clear that at a noise of about 3 we begin to lose the trend. 


